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BT 4 = 3 Hh X - BRAR - HEER - AT )11 4 EES
FPRH | HEERBHERAE INEBIR<T—FIC FHETX (/\A/3X) 3,400
FWH (HRERBREITE ZIENEFRR ER (L@ 1,789.1
FBRH |HEERBEXAE IRIKEIR TR (/N4 /3R) 5183671
FWm ([ -RE HERR BETRIX (HE) 1,800
EmE |ps-ge ?E&%ﬁ% FREAEMSIE (FBRBH)15 9,000
FWa ([ -RE mA—FM REFE THRIRGERE) 2,500
FWm ([ -RE mA—M RAEFE EHREGORIL) 1,199.9
BriRh (HEEAREERGE AEER AXEE (1B 1,552.6
BB (HSEXREERMAE HEREZBER B (GER 155.3
BB (HSEXREERMAE hEHEER B (HER) 158.9
Rt |[HEERBERMNE 1-12254 TD¥ (HEiE) 1,270.8
BB (HSEXREERMAE FETFFLR LB (BEERE) 4353
BB (HSEXREERMAE EREARR A+EE (EIE) 159
BB (HSEXREERAE FETFEHR AR (LR 159
Rt |(HEERBERMTE 1-911 5t (BRE) 503.6
iR (B -R2 FEBHER LE~ER (REBE) 1,830.4
iR (B -=2 EDRR KATF (FEBHE) 3,456
iR (B -R2 mR—F REHE EH AR CERE) 500
REHET (HREXBREITE 635 LREFEL (LR 1,261.1
REHET (HREXBREITE 1258 EXREHKE FEHE) 1,576.3
REHET (HREXBREITE RERELR NEF LA (JEIE) 630.6
REHET (-T2 15525 #1th JLiRMh (FEEIEHE) 1,269.1
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REFHET  (B-RE 615 /IMENI (ENE) 9,520
REFET  |FFK-RE BTN—M SAEEHE TS CERE) 3,000
B HEERERERFE 65 fRfth B (HLE) 1,894.4
Him HEERBHERTE 515#Rfth K (/34/3R) 1,600
Him B -&=& 8ER1th BAMIBIIIE (BREHE) 15mLlE 2,286
B Bisk-=e BTN—FM SAEEHE T =S CERE) 1,000
HRSE  (HSEXRERERAE FELIER FEY (EE) 4117
BHRE |HEEAXBERAE LHEMISHE LENE (HME) 1,238.3
HERT | -2e i:ﬁiﬁ%ﬁﬁﬁ L/RIEHAE (FBRE#)15 6847
SR |BHK-R2 BTN—M SAEEHE T =S CERE) 2,030
MEE |(HRERBHERMAE 30085#% dL/® (HLiE) 309.4
MHEE |HRERBHERAE 12025 #R1th JLBY (PEME) 123.9
mER |-k E 65 HRfth K2t (FEBH) 1,238.4
mER |2 TSRt deBthiA SaE 1,903.1
mER |FK-RE 5548 RBEEEMLER (B#) 1,043.7
O [ igss%fﬁ%ﬁﬁ RREMTER (FBREHE) 15m LU 914.2
mER |HK-RE HA—M AEEHE EH A% CERE) 1,000
FINF (BK-RE AR At (SIS 687.8
w2 é)%gﬁm%liﬁim ALRN=ZE1Bi14E (1BR1E 623.9
FF (BHK-RE HA—M AEEE EH % CERE) 3,000
=AM |BX-RE 154 LER HE 4,603.5
=@ |- l%‘fﬁ%ﬁﬂ RIRIEM2ME (BREHE) 15mLl | 524
EEMN (-2 HA—M AEEE EH =% CERE) 500
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